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Mag = 5 000 x Mag = 60 000 x
WD = 9.0 mm WD = 9.0 mm

Cem1

Mag = 5 000 x Mag = 30 000 x
WD = 9.8 mm WD = 9.8 mm

D1

Mag = 5 000 x Mag = 1 000 x
WD = 10.1 mm WD = 10.1 mm

D2

Mag = 60 000 x Mag = 10 000 x
WD = 9.4 mm WD = 9.4 mm

C1

Mag = 30 000 x Mag = 5 000 x
WD = 9.7 mm WD = 9.7 mm

C2

Mag = 30 000 x Mag = 10 000 x
WD = 9.8 mm WD = 9.8 mm

C3

Mag = 1 000 x Mag = 10 000 x
WD = 10.5 mm WD = 10.5 mm

Q1

Mag = 5 000 x Mag = 20 000 x
WD = 10.1 mm WD = 10.1 mm

Q2

Mag = 1 000 x Mag = 20 000 x
WD = 9.2 mm WD = 9.2 mm

G1

Mag = 5 000 x Mag = 30 000 x
WD = 10.1 mm WD = 10.1 mm

G2

Mag = 1 000 x Mag = 30 000 x
WD = 10.0 mm WD = 10.0 mm

G3

Mag = 5 000 x Mag = 5 000 x
WD = 10.2 mm WD = 10.2 mm

G4

10 µm 1 µm 10 µm 2 µm 10 µm 50 µm

1 µm 5 µm 2 µm 10 µm 2 µm 5 µm

50 µm 5 µm 10 µm 4 µm 50 µm 4 µm

10 µm 2 µm 50 µm 2 µm 10 µm 10 µm
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Add powder to water 
for 2 minutes, low-
speed shear rate

Testing rheological behaviourMixing

3 minutes

Put paste on 
rheometer

5 minutes

Preparing

3 minutes, 
high-speed 
shear rate

Measuring paste shear 
stress for 0 to 200 s-1

shear rates

1 minute

Measuring paste shear 
stress for 200 to 0 s-1

shear rates

1 minute
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Diameter (μm)

d125 d75 d45 d22,5
d11,25 d5,63 d2,37 d1,0
d0,5 d0,25
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y = 0,00001629x + 0,001
R² = 0,64275782

y = 0,00005132x + 0,001
R² = 0,91419590

y = 0,00001090x + 0,001
R² = 0,75692746
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y = 1.0479x + 0.0699
R² = 0.9913
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H

Volume solid content (%)

y= 9.65E-6 + {5.10E-9 * exp[(x-57.82)/1.72]}
R2 = 0.86
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